Name Hour

Use the following information to answer questions 1 and 2.
The longest ship ever constructed was the Knock Nevis, which had an overall length of 1,504 feet.

1. The Hong Kong Maritime Museum would like a scale model of the ship. If the model has a scale of
1 inch : 32 feet, what is the length of the completed model?

2. Keeping the same scale, if the model is approximately 7 inches wide, what is the width of the actual ship?

Solve.

3. The perimeter of a rectangle is 60 feet. The ratio of the width to the length is 3:7. Find the length and
width.

4. The area of a rectangle is 720 square feet. The ratio of the width to the length is 5:9. Find the length and
width.

5. The measures of the angles in a triangle are in the extended ratio of 1:3:5. Find the measures of the angles.

6. The lengths of the sides of a triangle are in the extended ratio of 6:7:9, and the perimeter of the triangle is
121 centimeters. Find the length of each side of the triangle.

AJKL ~AMNO. Determine whether the statement is true or false.
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Use the given information to complete the statement.

9. If APQR ~ ASTU, then S'IQ' =75 10. If ADEF ~ AGHI, then /1 =



Similar Polygons #2

Are the polygons similar? If they are similar, write a similarity statement and state the scale factor. If
they are not similar, explain why.
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In the diagram, ABCD ~ GHIJ. A 8 B
14. Find the scale factor of ABCD to GHIJ.
11 11
15. Find the value of x.
D x C
16. Find the value of y. G v H

5.5
17. Find the perimeter of ABCD. D

J 8 )
18. Find the perimeter of GHIJ.
19. Find the ratio of the perimeter of GHIJ to the perimeter of ABCD.
The two polygons are similar. Find the scale factor and the value of x.
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